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1411 

L.L.B. (First Year) EXAMINATION, 2018 

LEGAL LANGUAGE INCLUDING GENERAL ENGLISH     

Paper-XI 

Time: Three Hours 

Maximum Marks: 100 

 
 

              PART – A ¼[k.M&¼[k.M&¼[k.M&¼[k.M&v½v½v½v½     [Marks: 5× 8=40] 

Answer all questions in part A (150 words each). 

All questions carry equal marks. 

[k.M v esa ls lHkh iz’u vfuok;Z gSaA  

izR;sd iz’u dk mŸkj 150 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

          PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½     [Marks: 4×15=60] 

Answer any four questions (300 words each). 

      All questions carry equal marks. 

fdUgh pkj iz’uksa ds mŸkj nhft,A 

izR;sd iz’u dk mŸkj 300 'kCnksa ls vf/kd u gksA 

     lHkh iz’uksa ds vad leku gSaA       
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PART – A     

Q.1 Explain the meaning of any four of the following legal terms- 

 (a) Abet    

 (b) Bail    

 (c) Homicide 

 (d) Treason   

 (e) Inheritance  

 (f) Intestate   

Q.2 Explain the meaning of any four of the following Latin Maxims- 

 (a) Ab initio   

 (b) L’ animus   

 (c) Alibi 

 (d) Ex – Parte   

 (e) Lis pendens   

 (f) Suo moto 

Q.3 Make sentence using any four of the following given pair of words-  

 (a) Decree and Degree   

 (b) Differ and Defer 

 (c) Proof and Prove    

 (d) Assent and Accent 

 (e) Precedent and President  

 (f) Soul and Sole 

Q.4 Substitute one word for any four of the following- 

 (a) One who does not believe in God? 

 (b) Work for which no salary is paid. 

 (c) A person who has changed his faith. 

 (d) One who often talks of his achievements? 

 (e) One who runs away from justice? 

 (f) One who does not express freely. 



[1411]          Page 3 of 4                                                    

Q.5 Frame sentences using the given pattern- 

 (a) S + V + Gerund 

 (b) S + V (Be type) 

 (c) S + V +  Object 

 (d) S + V  

PART – B     

Q.6 Write an essay on any one of the following topics- 

 (a) Freedom of Press 

 (b) Social Responsibility to lawyers 

 (c) Uniform civil code and Indian constitution 

Q.7 Write a letter to the editor of a local daily newspaper highlighting the need of 

creating awareness among the general public about “Swachh Bharat”.    

Q.8 Translate into Hindi- 

 In the evolution of human society, it appears to be beyond doubt that custom arose, 

law came later. Law denotes a more definite organisation of human society with 

some kind of power structure. Customs are wherever a few human beings come 

together, as no association of human beings can exist permanently, without adopting 

consciously or unconsciously, some definite rule governing reciprocal rights and 

obligations. 

  The historical jurists attached a much greater importance to the custom. They 

held that all early laws were customary and that the function of legislation is limited 

to supplementing and redefining custom. The source of law is not the command of 

the sovereign, not even the habit of community, but the natural sense of right 

possessed by every race.   

 



[1411]          Page 4 of 4                                                    

Q.9 Translate into English- 

 mPp U;k;ky;ksa dh lk/kkj.k mi;ksfxrk gS v/khuLFk U;k;ky;ksa ls flfoy rFkk nkf.Md 

ekeyksa esa vihy lquuk] ;s vihysa ;k rks fof/kd iz’uksa ij gksrh gSa ;k rkfF;d] ;k fof/kd 

vkSj rkfF;d nksuksa izdkj ds iz’uksa ijA budk fofu;eu eq[; :i ls flfoy izfØ;k lafgrk 

rFkk n.M izfØ;k lafgrk ls gksrk gSA blds vfrfjDr dbZ vf/kfu;e Hkh fofHkUu vf/kdj.kksa 

rFkk U;k;ky;ksa ds fu.kZ; ls mPp U;k;ky;ksa esa vihy dk vf/kdkj nsrs gSaA fdUrq bl 

lk/kkj.k vihyh; vf/kdkfjrk ds vfrfjDr lafo/kku ds v/khu mPp U;k;ky;ksa dks vius 

v/khuLFk jkT; {ks= esa dqN fo’ks"k vFkok lk/kkj.k vf/kdkfjrk,¡ iznku dh xbZ gSaA ;s 

vf/kdkfjrk,¡ fl)kUrr% baXyS.M ds DohUl cSap ds U;k;ky; dh vf/kdkfjrkvksa ds leku gSA 

;|fi fd dbZ n`f"V;ksa ls DohUl cSUp U;k;ky;ksa dh vf/kdkfjrkvksa ls vf/kd O;kid gSA 

budk mís’; lEcfU/kr jkT; {ks= esa fof/k 'kklu ds fl)kUr dk lEeku v{kq..k j[kus dk 

nkf;Ro vUrr% mPp U;k;ky;ksa ds da/kks ij LFkkfir djukA mPp U;k;ky;ksa dks rnFkZ lEiw.kZ 

'kfDr;k¡ iznku djuk gSA 

Q.10 Write précis of the following – 

 Partition took place under the provisions of Indian Independence Act 1947, whereas 

accession of Indian seat was governed by the cabinet mission plan. The states were 

given the federal or political relationship with the successor government. This right 

was conferred by the government of India Act, 1935 i.e. the provisional constitution. 

When Kashmir originally decided that it will neither take side of India nor Pakistan, 

it had been imposed economic blockade and aggression by Pakistan. As a result 

Kashmir decided to remain in India. Though not legally bounded India decided to 

hold plebiscite in Kashmir. Jinnah rejected altogether. By the process of law both 

plans were rejected. When the dispute did not come to an end, the Jammu & 

Kashmir constitution decided in it that it is an integral part of India. 

  After a long time now Pakistan is guilty of aggression in Kashmir. Negotiations with 

Pakistan is mainly for making Indian Territory free from its forcible occupation and 

nothing more.  

Q.11 Draft a Power of Attorney document by the M. D. of reputed firm in favour of his      

C. E. O.                  

----------------------------------------- 


